). Spiral Review -

2020-2021
Side 4 Quiz
Name Date
1.How many times greater | 2.Round 923,076 to the | 3. Find the product.
is 4,500 than 450? nearest ten thousand.
3x0=
2 1000 0 923,100 6x3=
2 930,000
a 100 3x5-=
4310 3 920,070
8x3-=
a1 3 920,000
3x3-=
4. Which character has a line of 5. Name the angles
symmetry? in the rectangle.
a7
Jd L Q2 acute, 2 obtuse
a0 Q 3 acute, 1 right
Q2 right, 2 obtuse
6. The line plot shows the measurement of some pencils. What is the difference in length
two of the longest pencils ?
>
> >
KX X XX X
5 6 7 8
Length of Pencils (in inches)
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